§4x-12 )( x-7}

6+X >0

BCIIOMOTATEJIbHBIE YPaBHEHHUSL.

(1) (4x-12)(x-7)=0

(2) 6+x=0

VYpaBuenue 1.
(4x-12)(x-7)=0

Pemaem KaXXIOYyI0 CKO6Ky OTACJIBHO

1)
4x-12=0
4x=12
x=12:4
X=3
2)
X-7=0
x=7
YpaBuenue 2 .
6+x=0
X=-6
Pacuer 3HaKoOB.
Ciryyqaii 1 : X<-6.
ITycts X=-7
(4('7)é12(?§§_7)_7)_(_40?£_14)<0 HE YAOBJIETBOPSET HEPABEHCTBY.

Cnyuaii 2 : -6<x<3.
[Tycts X=0

(4-0-12)(0-7) (-12)(-7)
6+0 =6 >0 ynoBieTBOpACT HEPABEHCTBY.

Cnyuaaii 3 @ 3<x<7 .



[Tycts X=4
(4-4-12)(4-7) 4(-3)

6+4 =710 <0 He yJIOBJIETBOPSIET HEPABCHCTRY.
Cnyuait 4 @ 7<X.
[Tycts X=8
(4-8-12)(8-7) 20-1
6+8 =14 >0 ynoBJIETBOPSIET HEPABEHCTRY.

OTBET: -6<X<3;X>7



